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01 AL EFH S 150,000 48,500 101,500
o=2ksldd 7¢ 44,000,000& 44,000
OTFLHAE TV & 2,000,000% »2CH 4,000
OFUWAE CIXE tHEE ¢
,000,000& *1CH 2,000
OXY MM IT TY(BYHA 9 255
) 100,000, 000& 100,000
SXE8s NE 90,050 47,460 42,590
201 LBt 35,060 35,470 A410
01 At 22l 10,860 16,320 25,460
O el 8,760
OS2tz oI 3,100,000& 3,100
OH2IMAE ¢ 50,000 23 »23] 200
O&IAX g2 g4 & B2 & WA
2,730,000& »2H 5,460
Cunss=gtl 2,100
OSJIAAE Ns=8 210,000& x10H 2,100
02 2324l 5,000 0 5,000
OHBATH NAH AHdNFIHA RS
5,000,000& 5,000
03 &AL Z I 19,200 19,150 50




2N

=0
oS T

Ha: NgHy X
=9l

CHe sMH=EX X (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OEMNZ2 HMEeEs 6,000,000& 6,000
ORI HUAZZX S3HAF KA
50,000 104X 5,200
OL AN EXAIASE 200,000 x40H 8,000
202 044l 3,250 3,250 0
01 2L HI 3,250 3,250 0
O &2 bl 750,000 750
OZ2Hl (RIIH ) 250,000& x10H 2,500
203 €2 F=&d| 2,300 2,300 0
03 Al 2 =& 2 = X H| 2,300 2,300 0
OLEsXE g 2,300,000& 2,300
204 X243 A Y| 1,440 1,440 0
03 EHELRAY 1,440 1,440 0
OBRAUCHELZLH 60,0008 «2% 128 1,440
301 et A= 48,000 0 48,000
06 212t01 =22/ (4 H] 48,000 0 48,000
ORI HA2Z2 X A& X AS
1,600,000& *30H 48,000
AN 29 895,800 0 895,800
201 2Et24Hy| 37,550 0 37,550
01 AP 22| d| 32,550 0 32,550
o2+ % dstAgaE 21,550,000 21,550
oOXcIaARE 11,000,000 11,000
03 A2 H HI 5,000 0 5,000
OO0l 0]& N A 5,000,000& 5,000
307 QI2t0| ™ 550,000 0 550,000
05 QIZtREZ 550,000 0 550,000
OeoE A2 550,000,000 550,000
401 AlEHIZL 2 0HY| 55,000 0 55,000
01 A& H| 55,000 0 55,000
Ot MYl & Z2la Al- 55,000,000 55,000
405 KHoaHFE S HI 253,250 0 253,250
01 XA 2B F S| 241,150 0 241,150
OARH|I S 82,730
OYLEHEH 1,200, 000 =4CH 4,800
OLEE=S 2,000,000 *5CH 10,000
OoglmzAE 3,800,000 =1CH 3,800
OTV 1,000,000 ~4LH 4,000
OAS3tatd] 1,200,000 = 1CH 1,200
OZHY o HEE ED| 1,800,000 = 1CH 1,800
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2N

=0
oS T

Ha: NgHy X
=9l

Ehel S4=X X
SA - ZE-B(EA) - NRAY - B S il &t o il

OCIXIE ot et 500,000& *5CH 2,500
O=4 It et 220,000& »2H 440
odldlza=2d 1,000, 0002 »1CH 1,000
O2MMEDI 800,000& »2[H 1,600
O=2g7J| 700,000 = 1CH 700
O’ =21 700,000& = 1CH 700
OMEIN(2LAHE D) 1,400, 0002 = 1CH 1,400
SEFH(0lsAHT) 2,000,000% *1CH 2,000
odzZgAade 500,000 = 1CH 500
O& A 1,000,000 *3CH 3,000
OMIE DI 1,000, 000& »2CH 2,000
OME 22 XD 1,200, 0002 »2CH 2,400
OAE8sZalE A0 170,000& *3CH 510
OYzan 450,000 »2H 900
Od&N(2) 180, 000& *6CH 1,080
OH& s 220,000 +8CH 1,760
Ox&EL=D 200,000& «50H 1,000
Ooxsz &M 920,000& *2H 1,840
O2AMd21 1,650,000 *8H 13,200
OUWAMSMA 400,000& *5H 2,000
OWAMER 250,000& =164 4,000
OFSRUESESID; 70,000& =104 700
OMBIR 350, 0002 *7H 2,450
OME 180,000& =104 1,800
Oz s2EXR 180, 000& *5H 900
OA=¢8 400,000& =104 4,000
Oesgz2tx0l 150, 000 *5JH4 750
(OF 2= 200,000& *54 1,000
O0lsa Mg 200,000& *5H 1,000
Og=O0tIt+ 62,800
OROMEEZ2AX 70,0003 604 4,200
OsotE M4 350,000& * 144 4,900
OTLMH(12218) 1,100,000& = 16K 17,600
OMZBOIME 1,100, 000& *8H 8,800
O&AUu=0ld 3,500,000% =124 3,500
OME=gZE 500,000 14 500
U E=2=PN; 880,000& *4H 3,520
Olls=gdd&s M= 300, 0002 =34 900
ouscz 400, 000& *5H 2,000
RZ0IE 400,000& »7H 2,800
OJIM7H Z0olt 540,000 *2H 1,080
O XAl o Xt 100,000& = 18K 1,800
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SN B2
g gy X&
Chel: ZOIGX OB 2s CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 2,000 2,000 0
01 = LH 4 Hl 2,000 2,000 0
O22 Kbl 2,000,000& 2,000
203 YR =&l 11,000 11,000 0
03 A FXH S =AY 11,000 11,000 0
O=21no et & HEH 11,000, 000& 11,000
204 MR FH| 2,400 2,400 0
03 EZY 2 2,400 2,400 0
OHESEEEESRE 100,000& »2H «12& 2,400
301 et d = 252,856 258,996 N6,140
02 Het=stit= 18,260 24,900 N6,640
OolEXH &E&3 415,000 11 x43] 18,260
04 L HUHAH XS 89,000 89,000 0
0224 22| 250,000& =128 1204 TH 36,000
O OFAI I 2,500% 4 3002 =120 CH 36,000
oOnsgddl =28= ¢ 50,000& x340H 17,000
06 212tol=2l 04 Hl 120,000 120,000 0
OU=HENEZHA HEAF
3,000,000& »40H 120,000
09 HALAHIEA S 25,596 25,096 500
O0I% 245 AMDSE &4
20,0003 x128 123 2,880
OUXHENLSAA o4 U 5|9 &4
100,000& *50H 5,000
OUEBENSIA HIIslo FA
10,000& *60H *53 3,000
OMOIZE2S o4 2 20IDS &4
128,600& 60X 7,716
Ott2ANAI| A & s F4
100,000& 30 3,000
OBZNREAY 014 U DS &A
80,000& x50H 4,000
307 glz2tol & 354,908 330,105 24,803
02 It M AHE X 213,693 200,493 13,200
O0lZ&totE HMEHe 35,000, 000& 35,000
ONsZdYl sotSH AU 7,000,000 7,000
oMites2s =23 65,350
O120 8% g2osl , RBUHs AL
28,800,000 28,800
OHM36=z tHesdll =2U=sHEH SF=2UHE
3,100,000& 3,100
OH=0AM= Al2IE BE= 2STH HE
2,950,000& 2,950
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S ZE2D
M Ny A
& FQUXX JIgE A3 (SH9: &)
N _ - SkE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONMOIS2SE ELUSUE HAAS
157,000 +60 9,420
401 AlEHIZ 20| 5,000 0 5,000
01 Al&H| 5,000 0 5,000
OHZP S5 HEA 5,000,000 5,000
FORNRMH 29 997,942 949,654 48,288
201 YprS A H| 195,342 189,841 5,501
01 At 22l bl 195,342 189,841 5,501
oYer: g 51,342
OFCURXME NS0 M=
550,000 +23] 1,100
OFURNXME 22| 35,400
L JlEe g 1,200,0002 * 1274 S & 14,400
JJl= Z203 200,000 +105 0 L2 13 21,000
O2EHDA NS8 AZEY 0 2 14,842
. OHOI3Z22TWA2016(FS)
379,000 * 16H 6,064
. OH0lIAZ2 2O A2016(4 =)
379,000 * 124 4,548
. BHE2014(A =) 193,000 * 124 2,316
. BEH AASAAAE(EAN)
58,0002 *21 1,218
. BEH AASAAAH(AS)
58,0002 12 696
ofgds+y 144,000
OFUXXAE 3o &#A ¢
40,0009 *25% * 128 * 1204 S B 144,000
301 YptE A2 533,008 462,448 70,560
09 BALAIH| 2 A2 12,880 12,880 0
OM2FQIXXISt s As 4,000,000%! 4,000
OFCURNXAY LEAHMDE &4 AH DA 8,880
OF NS A5 ngels
6,000,000 6,000
OFRURXALEE OIS 3|0 &A =g
20,0002 128 ¥123] 2,880
1 JIEt R a2 520,128 449,568 70,560
OFQUNXMEY T2 2% 2A+Y
49,000 * 10504 I 2 ) 2 #8312 493,920
OFCINXIME RSASAR Al B4
7,00091 262 * 122 * 1204 S © 26,208
307 QI2t0l ™ 73,000 73,000 0
04 DIZFBALAL R B & 73,000 73,000 0
OFUXNMH T2 LH3(2)
35,000,000 35,000
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2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

OFQUXXIMAE T2 LHE3|(Al)
3,000,000& 3,000

OFQXXSA stEo &0tE 3l
35,000,000& 35,000

405 XHoHF S HI 196,592 224,365 N2T,773
01 AL 2 ZFH S| 196,592 224,365 N2T,773

OHNE =RXXEH 11,400
OY Al Mol 2 1,150, 000& =4 CH 4,600
OZA MOl 2 1,045,000& »2CH 2,090
OMAEZY A HHa 2,310,000 = 1CH 2,310
OodAzxg ZFH 1,200, 000& »2CH 2,400
o=d&g =R HH 16,960
Olles HIEXMH 150,000& 204 3,000
OZ20lH A28 H 2,350,000 »2CH 4,700
OXldHal 3,300,000 = 1CH 3,300
OdIXIZellA ofal 1,920, 0002 = 1CH 1,920
O &I BFAFXI DI 1,640,000& »2CH 3,280
OY EOtALXI D] 380, 0002 »2CH 760
ogds =X HEH 38,670
OAol=azA2H KAl 2,929,000 = 1CH 2,929
Ogalmol=2 1,150,000 =34 3,450
Ogdmal 3,500,000 »5CH 17,500
OMol2d 1,250, 0002 »2CH 2,500
O Y EDIALAI DI 380, 0002 *3CH 1,140
OdaYadd 2,475,000 = 1CH 2,475
OHEZ¢et0l 2,600,000 = 1CH 2,600
OHsSL2IIIH 700,000 = 1CH 700
OdIaxd A 2,688,000 = 1CH 2,688
OO0l ErQl 2,688,000 = 1CH 2,688
o=dsg U dH 9,134
OSe&Y (W, ALH) 3,096,000 «1CH 3,096
OogEzME 1,630,000 = 1CH 1,630
O3 440,000& «1CH 440
OLE=S 1,599, 0002 »1CH 1,599
OCDEdI0l O 75,0003 «1CH 75
Oos«otola 98,000 *3H 294
(@F= i 100,000& =54 500
o= 150,000& *5H 750
O+ 150,000& *5H 750
OMMH F=OIXXEEH 16,800
odAzag ZFH 1,200,000 = 1404 16,800
oA =T HEH 2,890
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2N 20
Ho: NgHy X
& FQUXX JIgE A3
SN HH - (EH) - HRAY - BES il
OMAEZY A Ha 2,310,000& = 1CH 2,310
O 8x 530,000 104 530
Oz 2t 50,000& =14 50
OSEY F=UXXEH 8,000
OALHA 5,000,000& «1CH 5,000
OtHEr=s 380,000 *5H 1,900
OolLIHE= 220,000& =54 1,100
OFsY = XXHH 9,449
Ozl2EH 02 259,000 =104 259
O=ZE2X 80,000& =64 480
OMEEMA 176,000& *2H 352
OARETt 218,000 »2JH4 436
OMAMMEHE 161,000& 2K 322
OHtt= 380,000& *204 7,600
SAE FAXXHE 24,469
oda=zg dFH 1,200,000 «17CH 20,400
O gdsd 275,000 =14 275
OgRaA 97,0003 *8H 776
Oda=ad A 2,688,000 «1CH 2,688
Osgas 330,000 1Ml E 330
oa=Y FOIXHH 25,444
OdEdmHA 3,500,000 =2CH 7,000
OADIAHA 1,994, 000& =1 CH 1,994
OCIZcte & 850,000 104 850
oua3zg FFH 1,200,000 «12CH 14,400
ofg4&otol3a 600,000& *2H 1,200
OaEgd FRUXXEH 22,426
OtlA3g BFH(2H) 780,000& »230H 17,940
OMH £H 1,650, 000& »2CH 3,300
ocgE ool3 825,000& 1Nl E 825
Oos4&otola 98,0003 *2H 196
OEAIE AH”E 55,000 =14 55
OTAH ABHE 55,0003 *2H 110
ods¥ FLUXXHH 10,950
Oddma 3,500,000 *1CH 3,500
OWHHZSzetol 2,600,000 «1CH 2,600
Ogt==2| 3,400,000 *1CH 3,400
o3 tel 100,000& 104 1,000
o= 150,000 *3H 450
MOtE XIEX XtE HE3 41,500
Al 20,750
a 20,750




o o [e0] N~ I~ — — © o o o o (=] <t <t
&) o o o o © S | | N~ N~
2 2 2 < < — B IR . .
n0 ~ @ @ - - I 2122 3 3
< = =
E|
B}
o o <t — — [ep) ™ (<] o o o o <t <t
o o — (a0} (e} 6] o] «© o o Yo} Yo}
[Te) o) o o (] (e)) (o)) — o o ()] ()]
= = S o0 o0 < ) < |8 |s ) )
< < [e6] «© «© — — [ap] 6] 6]
H3r @
uilEd!
Pak=
o O O o o O O [ NN eN| o o0} Q < < < [e6] o O W O O O O o o o o o o (@) o () o o 0 0O O QO
[ ToRNTe] o (&N ToRNTe] Al A @D o™ [ap] ™ ™M QO [e6) (o)) o O OO O o o o o o o o o < < < (e} < Al < O ANl <
O NN BN~ O B0 O O Q|0 N 0 B A A - - —lela|e & S S |a|a | O N | 000
— O O — — O O DN D — — — M~ N~ N~ Ye) [N oV es BN es BN QN | [aNEENaN| Y] ) Y] w <t — o (o] ()] ()] N~ O O N~ ©
- " | ™~
al — — |+~
<
=3
<M =< rr mr mr mr mr < <
o o o ot 2 o o 30 B0
o o o o — o o o o
o o o o (ap) o o [QN) [QV]
2 S S 2 < S 2 NIN
il 8 2 s 8 % 8 8 ® W
Mo Yo ()] Yo} [aV] q_v._ o (e} o o
- - - - - - SN
Al < ~ o @ S A <= <
S ._|r/ [YoJaN|
m.H_ © U
< 2 ar
=< Y . n0
I+ o - N o
= o K 0 =
. K0 izt a _
e _
= 2 + o $ o
() H =< - = | ar
i m = Uo M RS o|= 0
oF = W = o - = o0k R =X ol
& no ooR oF W = - - o o) 5|3 - ok k| |no =
<0 gk ol < n 30 a <k T o 30 |80 Ko O <||@r |0 o
- i m s Hr =) =M 0H Al B x 0 0 [0K XU ®l | w0 [ T K0
R’ l S ulo T N J oF o @) ) o [0 < O O | 0 =
R0 ol R O = J ~ O ol < O @) ol |[H0 © = | ol © )
. — [N =] — < — — — |y W | = -
o o o o o o o o - o ™
g ™ Kir - N x " | & 7
I ~ 50

RO
Mo

- 22 -




SN B2
¥ ZH M2
Sel: BHE e EEEED
£AH-ZH -2 (SH) - MRAY - BHES Ofl & oH %Ei Hns2Z
= 7,690,580
=™ ML 1,747,128 88,954 1,658,174
Al 56,548
= 1,690,580
101 Q1 24l 77,494 0 77,494
Al 24,877
- 52,617
SR EE TR 77,494 0 77,494
OMNBRIYR BE(2E) 8,611
oJza 60,2402 *3% %30 5,422
Al 1,205
- 4,217
ORzaYsry 60,2402 *32 * 11 1,988
Al 442
= 1,546
ogxay 60,2402 3% * 1 181
Al 41
- 140
OREH| 5,0002 ¥35 30 450
Al 100
= 350
=TI 5,0002 ¥32 x302 450
Al 100
- 350
ON=ag 40,0008 *3 * 12 120
Al 27
z 93
oOdNYR B BE(SH) 68,883
o=z 60,2408 x2 x302 ¥ 128 O 43,373
Al 14,458
- 28,915
ORIEY4Y 60,2402+ *11L*12S 0 15,904
Al 5,302
= 10,602
O"xtag 60,2402 x22 %12 *12S & 1,446
Al 482
z 964
OREH| 5,000 *2% 302 * 125 &1 3,600
Al 1,200
= 2,400
OEELI 5,0002 *22 x302 * 125 B 3,600
Al 1,200
= 2,400
ON=2g 40,0002 *22 * 12 *12S & 960
Al 320
= 640
201 Yy Ay 85,692 0 85,692
Al 28,564
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2N

g 5—@ & Hztel
Sl BFE SR (el @2)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
o=l 49,152
EHl 2 AAEH 2EAE 4
8,000 x 16 602! 7,680
Al 2,560
[ia 5,120
OFdl € AAHA SHAH SAH|
8,000 «7H+60 x 125 ™ 40,320
Al 13,440
[ia 26,880
OHNUIYE XA XA SAY
8,000 6P »23| 128 ™ 1,152
Al 384
s 768
02 232gHl 5,235 0 5,235
oORWERS 2,094& x2,500& 5,235
Al 1,745
s 3,490
202 O4dl 8,600 0 8,600
Al 2,707
s 5,893
01 = LH 4 Hi 8,600 0 8,600
s% A& &el 20,0003 *4H +43| 125 H 3,840
Al 1,280
s 2,560
O&HAHE X &el
20,000 *5H+23| 128 H 2,400
Al 640
[ia 1,760
OFgEzel& ARN=E
20,000& 23] x590 EHE 7 2,360
Al 787
= 1,573
203 YR =2t 1,200 0 1,200
Al 400
s 800
03 Al =AY R =& 1,200 0 1,200
(OFS R R | 400,000& *33| 1,200
Al 400
s 800
308 X EHSOIA 1,574,142 88,954 1,485,188
MIIERE= 1,574,142 88,954 1,485,188
OM73 MISAXNLEEHN BL3
1,574,142,000& 1,574,142
HY2IZH (BRI 16,446,406 15,482,802 963,604
lEAR (B2 16,162,887 15,217,885 945,002
olaA2gyl (521 16,162,887 15,217,885 945,002
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2N
X ZH -
L= B
el

re o o
Juox {0
H0 HO &

02 02

=5

—

(O]
—~

Of

-

40 Ot
&40

CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
jeilal.]] 2,761,948 2,853,325 A91,377
2 163,985 156,086 7,899
OAZZAZRE 11,0743 *50A1 2tx19H » 12 126,244
OANZLAZ R+ (254 5) 17,807

Of%4 S(29) 11,0743 +67 Al 2h+2H * 122 17,807
OANHZ2RFS(EINSH)
11,0743 x50A| 2 x6H 23 6,645
OANAA2RZ(MHI L)
11,0743 «50 A1 2H+2H « 128 13,289

02 JIEtE B = 22,954 17,365 5,589

OANHQ2ZRSH(LBHADIIH)
10,0033 *50A 2Hx2H x 128 12,004
OANZLAZRSL(HA)
10, 1313 «50AI 2hx1H x 128 6,079
ONAADR4 Y (MR4E)
8, 1173 *10AI 2tx15H x4 E 4,871
RIHNAAZZ2NE > 2,575,009 2,679,874 A 104,865
oJles 1,141,542
OAMNRARA(BY) 1,632,860 x8H x12& 156,755
OFBARA(12Y) 2,004,260& x12¥ =128 288,614
OAl&2e|aA(278)  2,148,680@ 278 *128 696,173
o=¢ 488,278
OPIE=E= 37,440
o WX 40,0003 x35Y x128 16,800
. &S 20,0003 «86H «12& 20,640
OllAIE8dXt B&aY 59,494
. NRARA(BY)
9,040 *BAl 2t x8H « 15 8,679
. ME2ARR(12Y)
10,4703 «8Al 2+ +12H 15 15,077
. Al & (27Y)
11,030 *8Al 2+x27H 15 35,738
Og&EZE2rH 178,479
. NRARA(BY)
9,040 «20Al 2t*1.5+8H x 128 26,036
. M2ARA(12Y)
10,4702 *20 Al 2t x1.5%x12H %128 45,231
. Al el (27Y)
11,0303 *20Al 2t+1.5+27H 123 107,212
OFSE=Ea=y 1,141,540,320& *1/12+0.9 85,616
(OFSE= ot =aP) P = 80,0003 *x34H 128 32,640
OJtdt=g 94,609
. NNRAR2(8Y) 235,1303 x8H 128 22,573
. ME2AR(12Y) 177,160& = 12H » 128 25,512
. Algze| 2 (27Y) 143,590 »27H 12 46,524
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SN B2
B #H2ABY (B2
el QIS HY (B2 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=scl =4 225,017
O=aldl 130,000& »47H 128 73,320
OYEFIHHl  1,141,540,320& 1/ 12%60%*23] 114,155
oAMdstdlExz=4< 467 ,080& x5 +4 3| 9,342
Oouggstl 50,000 x47H «12& 28,200
OIS ESE= 60,000
Os2HE & 30,000,000 »x2H 60,000
ORI HAZEZX JAELZ 660,172
O20UHASRES 6,562,030,000& *4.5% 295,292
CH2ABEE 6,562,030,000& *3.06% 200,799
OLF®IQAYEH 200,798,000& *6.55% 13,153
Cng:gs 6,562,030,000& *1.5% 98,431
OtHEE = 6,562,030,000& *0.8% 52,497
303 &= , 799,039
02 4&03 , 799,039
Od&3 ,799,039
062(18%) 3,424,400 *240H x110% 904,042
O72(158) 2,911,400& *305%H x110% 976,775
082 (128) 2,418,500 x207H x110% 550,693
092 (108) 2,056,400& x156H x110% 352,879
OFHJAZE (A 2,943,800 x2H x110% 6,477
OHJIZH(ZE) 2,476,500 *3H x110% 8,173
304 A3RE=S ,601,900
01 A3EE3 , 771,657
OfuI=E == 56,135,003,000& *8.50% , 771,476
oENdZ 56,135,000,000& *4.091% ,296,483
(OFSESE= = = 56, 135,000,000 2. 8650% ,608,268
OMHENREES 56,135,000,000& 0. 170% 95,430
02 ZQALEES ,830,243
O=3UHLBEHZ(FRA)
56,135,000,000& *3.06% 717,731
OLIIRAEEE 1,717,731,000& *6. 55% 112,512
EETHCE-) 138,275
Jl2dul(2%) 138,275
203 PR =&l 138,275
01 J|22F PR =8I 89,100
o= 52,800,000& 52,800
oORZ= 36,300,000 36,300
02 At H 2= 49,175
© 100 Mt X 80,000& x100H 8,000
©101E~300& 60,000& x200H 12,000
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SN B2
B #N2ARY (B2
¢l J23H(28) )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
©301E~600H 45,000& x300H 13,500
©601H~800H 30,000& x200H 6,000
©801Y Ol &H(JIZHIZ &) 15,000& 645X 9,675
dH(Z21) 145,244 142,812 2,432
22H(&52) 145,244 142,812 2,432
201 LB-2d| 50,504 47,952 2,552
01 At 2t 2l 50,504 47,952 2,552
O el 15,560
OTHMa2H 15,560, 000& 15,560
O= &l 8,000 x27H x 134 x 128 33,696
OsSgH (FIILsY) 8,000 «6H x 13423 1,248
202 O4dl 86,400 87,360 A 960
01 =LHOIHI 86,400 87,360 A 960
O 2 LH o HI 240,000& *27H «x12& 77,760
OZUoitEI(#E) 240,000& 1 128 2,880
OZHOHI(ZII WS H) 240,000 x6H 2 2,880
O2WHHHI(IIHAZ LX) 240,000 x1H =123 2,880
203 YR =2t 8,340 7,500 840
01 JIZ2Z YR8 3,300 3,300 0
o= 3,300,000& 3,300
04 FN2ELRZ=TH| 5,040 4,200 840
N2 SFAHI 420,000& 123 5,040
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